Course: SBI PO Pre
Subject:Average, Ages, Percentage, Ratio & Proportion and Number System

Time:10 Minutes
Published Date: 5"June 2020

Q1. TAHT H HIFT P TG, ITAPT a1 Bt 3G ,
IIP! AT P MY BT U HH: 10: 3 TR W1 B gH Mg fhat 82
(a) 32 TN

(b) 40 I

(c) 36 T

(d) 34 T

(e) 46 IY
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Q2. 74 UEH, PR QBT A FT UG 4 : 58 MR 7 q¥ 91g, I 5 : 6 F AU A
BN Q P TAHT MY fraeht 82

(a) 56 T

(b) 63 TY

(c) 70 T

(d) 77 9%

(e) 87 T
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Q3. AEH 3R UTEA Bt Y HUIM: 40 ¥ 3R 60 9¢ g1 fhax a9 ugal ! Mg H1
3UTd 3 : 5 UT?

(a) 15 T¥

(b) 20 9%

(c) 37 9%

(d) 10 9%

(e) 16 a¥
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Q4. Tal B AIRIS 3, M &t Aife 3ma &1 fiF A1 81 Tt &) Wil e,
forar & wifre ema | 15% Siftre g1 frar &t wifye ema 32,000 $Ud g1 wal Ht
qiffe 3ma fea-t g2

(a) 11,04,000 3T

(b) 13,24,800 3T

(c) 38,800 3T

(d) 54,600 3T

(e) 12,34,800 304
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Q5. 3THTY fawy A ® 73 3f T Bl 1 98 fawa B A 56% 3fP UTW &l € o’

fawg c o x 3 Urd &Rar1 81 TP fAwy & siftrraw sie 150 €1 |t 9 faway #

ggmmmmaiaﬁmme%%l fawg ¢ ¥ 3T fHam i ura
N

(a) 84

(b) 86

(c) 79

(d) 73

(e) 94
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Q6. Th 3Reeye & 9t s &1 oag 3ifre &0 A RR 3R 34ife Tu & dasai ot
= & AR 7 81 150 as®! & frw oag 10,000 U 7 3R 120 dSH! & forw
Y 8400 TUY B 330 ASPI & forw oay fpa=n grm?

(a) 18,000

(b) 19,600

(c) 22,400

(d) 24,000

(e) 20,600

L1Difficulty 2

QTagsNumber System

QCreatorDeepak Rohilla

Q7. 5 AN faud T=y g1 afe ugelt & fauw J=msi & had & o 3 sifaw &t
fauw TEmai & 3iad & et & A BT 3} 492 ¢, B! fauy = =1 82

a) 37

o) 12

(c) 41

(d) 35



(e) 39
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Q8. &I WIS BT U 15 : 2 1 S TP HBN W 15 P IS g ¢, A 3qura 15 :
2> BISITCT g, ol ISt W rd B |

(a) 27

(b) 36

(c) 48

(d) 64

(e) 44
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Q9. TS 3R ¥ft FY g uT 3y & fH A FuTd 3: 11. 81 T, W1 d 12 96
Bler 81 7 au q1g, ¥e™1 B 3y 85 ¥ ghift | #=ie & far 3t adur oy fhasit 8 o
TS 25 a9 Mg A S 87

(a) 439

(b) 67 T

(c) 45 9

(d) 69 T

(e) 71 T¥
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Q10. U% 480 faenfiay &t wftem &, 850 @sfrar 3 70% T S<ivf gu. afe $a
Tl wfa=ra 75% 8 @ wien d o fha s UG gU?

(a) 370

(b) 340

(c) 320

(d) 360

(e) 420
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Q11. U9 33 faenffal &) wen &1 3ivad UK 47 fHum 21 afe e &1 4R WmfFa fJar

STaT €, A1 B&T DT 3NTd R 1 fhu1 9¢ wirar 21 Riered &1 UR feaar 22
(a) 48



(b) 80

()71

(d) 81

(e) 33
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Q12. T wafl H 45 faenffal &1 eiwd s 52 fun 81 399 @ 5 T oifad YR 48
fpuT &, Pam ole 34 & oiv 3 5 faemdf o oivaa MR 54 fun 8, wem A =nfia
BId € | H&T T a1 3N9d HR (fpur /) fraan e

(a) 526
52

(c)

(d) 54

(e) Mone of these
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Q13. % e H, T IHIcar A 3iftrpdy 3 'x' # A 336 3icp gy fHpul afe
SAfUFaH 3i® 'x’ Bl 400 3D U g¢a a1 74T T4, df 3F 192 3P UTW gid | e A
Sftway 3 fraer A?

(a) 500

(b) 650

() 600

(d) 700

(e) 800
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Q14. P, QaﬁTRﬂ?Eﬂan7wﬁaﬁ: E %maﬁﬁmﬁmmﬁ%?msﬁ
na;iz 3: 4$ﬁmﬁﬁmﬁmﬁmwm\qaﬂéﬂﬁmﬁmﬂ+mmv

(a) P

(b) Pad Q

(c) AT R

(d) @t Q 3R

(€) $TH | FIg oTeT
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Q15.a, b, ¢, d 3R e TR 5 GH GEA¢ &1 TS ‘a’ 3R ‘& STUNT 162 8, Ot A J=mait
STUNT fraa8?

(a) 400

(b) 380

(c) 420

(d) 410

(e) 408
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Solutions

S1. Ans.(a)

Let present age of Meena = x years
X
~ Daughter's present age = P years

ATQ,
:r:-I-B_l{}

g+a 3
= 24x + 192 = 10x + 640

448
= Xx=—
14
= x = 32 years
Sol.

S2. Ans.(d)
Let present age of P = x years

Present age of Q = y years
x-7 4 x+7 5

“y-7 595 ¥7 6
= 5x-35=4y-28and 6x+ 42 =5y + 35
= 5x -4y =7 ..(i)

and

6x — by = -7 ...[ii)

Solving (i) and (ii), we get

v =77 years
Sol.

S3. Ans.(d)



Sol

S4.

Let a year ago, the ratio of Rahul and

Parul's ages was 3 : 5.
40-a 3

60-a 5
= 200-5a=180-3a
= a=10years

Ans.(b)

Ruby’s annual income

115

=12X 3 X — X 32,000
100

=Rs. 13,24,800

Sol.

S5.

Ans.(b)
Total marks obtained by Akash
in all the three subjects together

—(?3+ >6 % 150 + )
B 100 x

54
= x4+ 157 = — x 450
100

= x = 86

Sol.

S6.

Ans.(b)

Let constant expenses were Rs. x
Variable expenses = Rs. y per boy
~ According to first condition,

= x+ 150y = 10,000

and according to 2" condition,
x+ 120y = 8400

~ 30y = 1600

160
= y= Tmpee
S~ x=8400-160 = 40 = 2000

-~ Required expenses

160
= 2000+ 330 X 3

= 19,600

Sol.

S7.

Ans.(a)



Let 5 consecutive odd numbers are
x4, x-2, x x+2, x+4

ATQ,
(x+3)*-(x-3)*=492
= 12x =492
=x=41
~ smallest odd no. =41 -4
Sol. =37
S8. Ans.(c)
x 9
y 16
x+15 2
y+15 3
Solving equations, y = 48, x = 27
Sol.
S9. Ans.(a)

Sol.

Let present ages of Manoj and Wasim
are 3x & 11x vears respectively.
ATQ,

(11x+ 12)+ 7 =85

= 11lx =66

=x=6

~ Present age of Manoj's father
=18+ 25

=43 years

S10. Ans.(c)

Sol.

Total number of students = 480

Let the number of boys = x

Now according to question,

Total students passed = 70% of x + 85%

Of (480 - x) = 360
TOx=x 85x(480—x) _ 360

100 100
= 70x — 85x + 40800 = 36000
= 40800 — 36000 = 85x — 70x

= 4800 = 15x
4800
=x=——=320
15

There are 320 boys who appeared for
the examination.



S11. Ans.(d)
Weight of teacher
= 34 X 48 -33 x 47

sol, — Slke

S12. Ans.(b)

New average weight
_ 45 52—-5x4B+5%54

45

Sol.

S13.Ans.(d) _
His % marks out of 400 = % ® 100 = 4804

~48% ofx =336

Or, x=700
Sol.

S14. Ans.(d)
Differences of share of P, Q and R
respectively in two cases

2 6
P——x117 -—x 117 = - 28 (loss)
9 13

3 4
- %117 -— % 117 = 3 (gain
Q=g 3 (gain)
4 3
R——X117 —— X 117 = 25 (gain)
Sol 9 13

S15. Ans.(d)
a=a,b=a+2,c=a+4
d=a+6ande=a+8
~atd=at+at6=162

162—6
a=— =78

~ Sum of all numbers

=78+80+82+84+86=410
Sol.




